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SOCIAL MEDICINE AND COMMUNITY HEALTH
PAPER —1II

Note : This paper contains fifty (50) multiple- choice questions, each question carrying

10.

two (2) marks. Attempt all of them.

Physical quality of Life Index in India is :
(A) 31 (B) 43 (© 50 (D) 61

WHO target for expenditure on each country GNP on health care is :
(A) 1% B) 3% Q) 5% (D) 7%

Kerala has surpassed all other Indian States in all parameters except :
(A) IMR (B) Female literacy
(C) Per capita calorie intake (D) Per capita income

The first distinguished Epidemiologist was :
(A) Aristotle (B) Avicenna
(C) Thomas Sydenham (D) Morgagni

Search for disease among apparently healthy people is :
(A) Screening (B) Surveillance
(C) Case finding (D) Notification

For all the following human immunoglobulins are available for vaccination except :
(A) Hepatitis (B) Measles (C) Plague (D) Rabies

The reconstituted BCG vaccine should be used within :
(A) 3 hours (B) 6 hours (C) 18 hours (D) 24 hours

Aims of radial treatment for Malaria include all except :
(A) Complete cure from Malaria

(B) Preventing terminal complication

(C) Prevention of relapse

(D) Make the patient non-infective to mosquito

The radiation exposure in mammoglaphy is :

(A) 0.3 rads (B) 1.0 rads (C) 5.0 rads (D) 10.0 rads

The least common cause of heart disease in India is :
(A) Rheumatic (B) Hypertensive (C) Ischaemic (D) Congenital

D —8105 2
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

The Lack of linolenic acid may cause :
(A) Loss of appetite (B) Loss of weight
(C) Oedema (D) Raised serum cholestrol

The most commonly abused drug causing addiction among Indians is :
(A) Amphetamine (B) Cocaine (C) Cannabis (D) LSD

Orthotolidine test determines :
(A) Free chlorine (B) Combined chlorine
(C) Chlorine demand (D) Both free and combined chlorine

Food poisoning is caused by :
(A) Clperfringens (B) Salmonella paratyphi A
(C) Vibrio Cholerae (D) Stef epidermis

Child mortality rate due to AIDS is highest in :
(A) Asia (B) Sub-Saharan Africa
(C) Latin America (D) Carribbean

Resistant Malaria has not been reported from :
(A) Maharashtra (B) Gujrath (C) Punjab (D) Rajasthan

Rickettsialpox is transmitted by :
(A) Flea (B) Mite (C) Tick (D) Mosquito

Following rate does not use midyear population as a denominator :
(A) Pregnancy rate (B) Marriage rate
(C) Death rate (D) Birth rate

The occurance of a group of illness of similar nature at a rate above the expected number
is called :

(A) Hyper endemic (B) Epidemic (C) Endemic (D) Pandemic

The most common occupational disease is :
(A) Asbestosis (B) Plambism (C) Dermatosis (D) Silicosis

Small for date in comparison to premature birth has :
(A) Low birth weight (B) More congenital anamalies
(C) More chances of mental retardation (D) Less survival chances

World no tobacco day is on :
(A) 30th January (B) 7th April (C) 22nd April (D) 31st May

D —8105 4
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23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

Prevalence of Blindness in India is :
(A) 0.2% (B) 0.5% (C) 1.0% (D) 1.5%

Critical ratio of more than 1.96 is equivalent to probability of :
(A) 68% (B) 95% (S 99% (D) 100%

The number of degrees of freedom in a table of (4 X 4) are :
(A) 4 (B) 8 < 9 (D) 16

Vitamin By, is not found in :
(A) Milk (B) Liver (C) Soyabean (D) Fish

All of the following diseases require surveillance according to WHO, except :
(A) Chicken pox (B) Yellow fever (C) Malaria (D) Rabies

The largest constituent of human body is :
(A) Proteins (B) Fats (C) Water (D) Minerals

All are indicators of Air Pollution except :
(A) Sulfur dioxide (B) Smoke
(C) Carbondioxide (D) Dust particles

All the following constituents are high in human milk than in Cow’s milk except :
(A) Protein (B) Cystine (C) Taurine (D) Lactose

Note : Instructions for answering question no. 31 to question no. 38.

The following eight items consist of two statements, one labelled the “Assertion
(A)” and the other labelled the “Reason (R)”. You are to examine these two statements
carefully and decide if the Assertion (A) and the Reason (R) are individually true and if
so, whether the Reason is a correct explanation of the Assertion. Select your answers
to these items using the codes given below and mark your answer sheet accordingly.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not a correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : The screening test is not intended to be a diagnostic test.
Reason (R) : As screening is done on apparently healthy population.

Assertion (A) : There is a biological variability associated with many physiological
variables such as blood pressure, blood sugar, serum-cholesterol etc.

Reason (R) : As there is variation between different observers on the same subject
or material.
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23.

24.

25.

26.

27.

28.

29.

30.

31.

32.
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33.

34.

35.

36.

37.

38.

39.

Assertion (A) :

Reason (R) :

Assertion (A) :
Reason (R) :

Assertion (A) :

Reason (R) :

Assertion (A) :

Reason (R) :

Assertion (A) :

Reason (R) :

Assertion (A) :

Reason (R) :

Even after surgical treatment of rheumatic heart disease, the child is
continued on chemoprophylaxis.

The child’s heart continues to beat risk of streptococcal infection.

Trial of labour cannot be given in mildly contracted pelvis.

Power of uterine contractions is unpredicatable before labour is well
established.

Ideal site for vaccination of anti rabies vaccine is anterior abdominal
wall.

Anterior abdominal wall being muscular does not show cutaneous
hypersensitivity.

Cases of extra putmonary tuberculosis are more common in the people
who are coinfected with HIV.

HIV leads to more cavitory disease of tuberculosis that facilitates
dissemination.

One of the main objectives of elimination of leprosy is to bring down
the leprosy prevalence rate to less than 1/1000 population.

It is essential to continue multidrug treatment service to all leprosy
cases.

Combined vaccine and immunoglobulin/serum treatment offers the
best prophylaxis of rabies in exposed persons.

As anti rabies serum prevents replication of the virus at the site of bite
while vaccination produces serum antibodies.

Match List-I (dust) with List-II (pneumoconiosis) and select the correct answer using
the codes given below the lists :

List - I
(Type of dust)
(a) Coal dust
(b) Iron dust

() Cotton dust
(d) Cane fibre

Code :(a) (b)
()

(i)
(iii)
(

iv)

(iv)
(iv)
(i)
(i)

11

List - II
(Type of pneumoconiosis)
(i) Siderosis

ii)  Byssinosis

. ~—

(
(iii) Bagassosis
(

iv) Anthracosis



33.

34.

35.

36.

37.

38.

39.
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40.

41.

42.

Match List-I (disease) with List-II (Strategy) and select the correct answer using the
codes given below the lists :

List - I List - II

(Disease) (Strategy)
(a) Leprosy (i) Syndromic approach
(b) Tuberculosis (i) Presumptive treatment
(c) Malaria (iii) Multidrug therapy
(d) STD (iv) Short course chemotherapy
Code :(a) (b) (c) (d)
(A) @) @) @1 ()
(B) @) (v) () (i)
(©) @) (@) (@v) ()
(D) @) (v) (i) @)

Match List-I (type of cancer) with List-II (carcinogon) and select the correct answer
using the codes given below the lists :

List - I List - II

(Type of cancer) (Carcinogen)

(a) Skin cancer (i)  Aniline dyes
(b) Lung cancer (i) Asbestos

(c) Urinary bladder cancer (iii) Benzol

(d) Leukaemia (iv) coal tar
Code :(a) (b) (c) (d)

(A) @) (@(v) (@) (i)

(B) (v) () (@) (i)

(©) (@@) @) @ (v)

(D) Gv) (@) @) (D)

Match List-I (Index) with List-II (Formula) and select the correct answer using the
codes given below the lists :

List - I List - II
(Index) (Formula)
. . Height (cm)
Bod d
@) Ocy ass Thdex ® Cube root of body weight (kg)
(b) Ponderal index (i) Ideal weight = Height in cm —100 (kg)
() Broca index (iii Ac.tual Welght = should not exceed 1.2
Desirable weight
Weight (k
(d) Corpulence index (iv) f?lg—(g)z
Height (cm)
Code :(a) (b) (c) (d)
(&) Gv) (@) @) 6)
(B) (v) @ () (i)
(©) Gv) (@) (D) (@
(D) @) (v) (i) @)

8105 10



40.

41.

42,

Gt & o < TE I 1 ST R -1 () B GE-11 (Fgrestt) § Fier i 3R wel 3w S|

et -1 et - 11

() (TSt )
(@) FHT () Fegfus T
(b) &R (i) Tosafes fafeacn
(c) waifem (iii) g 3Ty fafemen
(d) THIAE. (iv) SIS S FHE
&S (a) (b) () (d)
(A) (i) () @) (@)
(B)  (iii) (iv) (i) (i)
(C) (i) (i) (iv) (i)
(D) @) (Gv) (D) (D)

TeA-1 (FE JohR) o1 Foei G-I (HRAAASI ) 9 o §al ST 1 916, = & < iU
T IS T TAM HY, |

-1 g - 11
(FTF Y&R) ( RS )
(a) T Hw () A eEs
(b) RS H HE (i) THIEH
€ FIT =TSR FH (ili) SHSIT
(d) ieRIthRn (iv) IR

&S (a) (b) () (d)
A) - (iid) (v) (@) (i)
(iv) (i) () (i)
C) (i) () (@) (iv)
@iv) @) @) (iii)

-1 (32 1 T -1 (FREAT) 8 HHE TR A, P o = ST 78 e =
AT |

et - 1 el - 11
(3 ) ( T )
§ ‘ IR (H.ATL)
(@) ST A 35 O g e st ot 32 (B.)
(b) U e (i) omEfead oe = @ (E.H.) —100 (oh.SiT.)
EESICERCEE]
(c) ST Free Ciipecremm S PR E L UR
F5H (h.SH)
(d) HRYAH Fe ) o (@)
Fc: (a) (b)) (o) (d)
(A) (v) (i) () (5)
(B) (v) (1) () (i)
Q) (v) () (D) ()
(D) G (v) @) ()
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43.

Match List-I (Epidemiologist) with List-II (Breakthrough/observation) and select the

correct answer using the codes given below the lists :

List - I

(Epidemiologist)
(a) James Lind @)
(b) Edward Jenner (if)
(c) Finlay and Reed (iii)
(d) Gold berger (iv)
Code :(a) (b) (c) (d)
(A) Gv) @ (D) (i)
(B) @) @) @ Gv)
(© G @) (@) @)
(D) @) (@) @ G

44.

the codes given below the lists :

List - I
(Food item)

List - II

(Break through/observation)
Experiment with cowpox
Pellagra as nutritional deficiency

Mosquito borne transmission of
yellow fever

Scurvy can be prevented by lime juice

Match List-I (Food item) with List-II (Rich source) and select the correct answer using

List - II

(Rich source of)
Ascorbic acid
Niacin

Vitamin D

Cyanocobalamine

Identify in the correct chronological sequence the contribution of the following scientists.

(a) Ground nut (i)
(b) Amla (ii)
(c) Liver (iii)
(d) Fishoil (iv)
Code :(a) (b) (c¢) (d)
@) (v) @) 0 G
® G @ @) G
© () O v (i)
O O @) @) G
45.
(A) Edward Jenner - Leuis Pasteur - Robert Koch - Ronald Ross
(B) Leuis Pasteur - Robert Koch - Ronald Ross - Edward Jenner
(C) Robert Koch - Ronald Ross - Edward Jenner - Leuis Pasteur
(D) Ronald Ross - Edward Jenner - Leuis Pasteur - Robert Koch

46.
(A)

Lentil - Bengal gram - Rice - Soyabean
Bengal gram - Rice - Soyabean - Lentil
Rice - Soyabean - Lentil - Bengal gram
Soyabean - Lentil - Bengal gram - Rice

12

Select the food items in descending order according to their protein contents.



43. -1 (WM faame) 1 e gei-11 (3THa/Taeh) 9 o TRl ST I I, F o A
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-1 g - 11
(TR famr ) ( SguE /3R T )
(a) v foe (i) 1S I ok TIRT
(b) TS S (i) AT, IveR qel ki HHT o €9 H
() TFia sk T (i) oSt S Hid SoR
d) TesaR (iv) 9 % T §R Whell & =G foha S Hehel §
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(D) () @) @ ()
44, -1 (W@ 9%]) F HAH FH-11 (I 6 ) & FH FE IR Al g6, A o = <
T TS T YA Y, Y |
-1 -1I
(T o) ( Ut % W )
(a) AT () UEfe s
(b)  3He (i) msfEa
(c) Ipd (iti) o= &
(d) WS H ad (iv) ETEARIEAMTET
F:(a) (b) (o) (d)
(A) (v) () (@) (i)
(B) @) (@) (v) (i)
© G) @@ @v) (i)
(D) @ @) (v) (i)
45. frAfafed STl % dMEH & TR R T& HIeshiHd HH 1 e Hifs |
(A) TEIE SR, TEH e, a2 i, Jee 39
(B) Tzd UI¥=H, Yo hid, IAIee I, TSAE ST
(C) T i, TTee I, TSHe S, e e
(D) Ilee W, TEAS SR, e IReH, o &
46. T YR S FAUE A H ITH 91 S 9Tl Y o STTER WA ¢
(A) T, 9, ¥, HEEE (B) =, e, WM, YL
(C) <Ed, dEEH, HEE, = (D) WHEEHE, "§R, =, JEd
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47.

48.

49.

50.

Select the correct sequence year wise inorder the goals to be achieved under National
Health Policy - 2002, by the year 2015.

(A) Eliminate lymphatic filariasis, Eliminate - Kala azar, Achieve zero level growth
of HIV/AIDS, Eliminate Polio

(B) Eliminate Polio, Achieve zero level growth of HIV/AIDS, Eliminate - Kala azar,
Eliminate lymphatic filariasis

(C) Eliminate - Kala azar, Achieve zero level growth of HIV/AIDS, Eliminate Polio,
Eliminate lymphatic filariasis

(D) Achieve zero level growth of HIV/AIDS, Eliminate Polio, Eliminate lymphatic
filariasis, Eliminate - Kala azar

Select the ascending order of the diseases according to their average incubation period.
(A) Diphtheria, Mumps, Hepatitis B, Staphylococcal food poisoning
B) Staphylococcal food poisoning, Diphtheria, Mumps, Hepatitis B
Hepatitis B, Staphylococcal food poisoning, Diphtheria, Mumps
Mumps, Hepatitis B, Staphylococcal food poisoning, Diphtheria

Read the paragraph below for the question no. 49 and 50, and answer the questions
that follow based on understanding of the passage.

A family physician is interested in finding out habit of coffee drinking in her
patients. She asks all patients who come to her office if they drink coffee and determines
that 20% of her patients drink coffee. She then asks every third coffee drinker who
comes to the office how many cups of coffee they drink each day. She finds that the
mean number of coffee cups drunk are 5. She plots the number of coffee cups drunk by
each patient on a frequency distribution and finds that it is normally distributed. She
also finds out that habit of coffee drinking is equal in males and females. She already
knows that half of her patients are male and half are women.

Which of the following characteristics of the sample taken by the physician in the
above scenerio would cause the sample to be biased ?

(A) The fact that number of coffee cup drunk is normally distributed
(B) The fact that systematic samples cannot be representative

(C) The fact that number of male coffee drinkers are equal to number of female coffee
drinkers

(D) The fact that the persons coming to her clinic are more likely to be sick and perhaps
more likely to drink coffee than persons who do not come to her clinic

If the family physician in above mentioned paragraph finds that the variance of the
number of cups of coffee drunk is 9 what is the standard deviation ?

(A) 6 (B) 4.5 ©) 3 (D) 1.5

D —8105 14



47.

48.

49.

50.

2015 Gk TS @€ 2002 % SF=<Hid 9T fohdl STH aTel &3 32941 <hl, HIell o SR T,

& % g |

(A) TrRifes TRARETEE 1 M, HTel SR HT IVIeH, TH.3TE. 1/ TSH & e
I TR AT, il sl 3+ e

(B) Uil o1 IV, TH.STR.o/USH o el ol I TR W @M, hrall TR 37,
hifesh TRelentad &1 S+

(C) hTET TSR I IHEH, TH.3TE, a1/ TSH o theld i A TR W &AM, Tl 1 3+er,
wehifesn fRafEnte™ 1 3<eH

(D) TH.3TE.dl/TSH % e &l T TR R AHI, Nerdl 1 37, Thifiesh fhafantas
1 I, I STSIR 1 ST

M T ST IS AT & TR, RS hH § 4 |

(A) TIHIE, TAge, Tiiedied S, WERIchE ot Wem
(B) WIS e WS, Tored, Tergey, uiemed st
(C) Tdiermfen s, wwichEe faten 95, Tere, Tergst
(D) Torge, Fiemfed s, WhidmEe faten JI5F, e

T : G977, 49 37 50 & fo78 37 At 3=y ( UTaT® ) &t Uied 31T 3791 TasT
& ST G ST ST

T Thifell Sy, 3T+ AT H Hiwt 1 i 3Ted bl SFH § o9 W@d 1 399 T
FHETEE § ST Tl e TS | YT foh, 3R 9 ikl did € ofR =g i foman o6, 39k 20%
Iht w1 T IHT 3T e § T A6l Y&sh qE Hiwr 19 9t 9 @1 6, 9
e e fhamend il T €1 % Tt © o, 3ia o ST dTeft shithl-ahui ot 9@ 5 ¥ |
U YAk WM GR G ST ATel hithl hui St e 1 sTgha faawon (e fegdieqem) =
e fepan 2R e 9 foh, 9% 9 w9 9 faafa €1 S8 98 off 9a1 =etan © 6, et o &t
3T1ed Jeul T Afgenstl § §HM § 1 34 98cl § & 91 ¢ foh, 36k o718 I gew ud o1e Afgen €1

ST oE B Fa ot fAfafaa § 9 foeg fafbred @i et g AR 7o § s S &

TEEX B T HR A § 2

(A) T8 qeA & o 9T At Ui i Ge g w9 9 foafa g

B) % 94 for frafta dvoe emeet =1 & wohdt €1

C) 9% A ¥ T st diHaret gew iR Afgen ser &

D) g deA & 3 =afed St ST Felifieh o o1 &, e1feepid & ofi|R 89 ot Gorer § 3iR
IRIE 3 ATl § SATRT HiH U 2, S Ik FeAltTeh § Tl 3T B |

(
(
(

Ifg STH T ose W T Ul  fob, 0 T SRl & wUl & G@ & fa=ed 9 § 91 A
forarer = grm ?
(A) 6 (B) 4.5 © 3 D) 1.5
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